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The

point is only too obvious. These threadbare*** notions seek to eliminate the concept of guilt and free
no one can

disadvantage,

social
inadequacy,

including

and social

for the therapeutic society customarily see the
circumstances,

by unfortunate
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Many observers assume that there are pathological* forces at work in acts of violence: mental
If the blame for violence

economic crises, poverty and exploitation, and so forth, all of which are held responsible for violence.
* pathological:

According to this theory, the wrongdoer of violence is part of the unfortunate society of the sick, the
poor, the unemployed and the socially excluded, who can be helped only by therapeutic methods.

ultimately be held responsible for a violent act and its consequences.

derangement or outbreaks of frenzy. Apologists**

% Apologists:
1% threadbare:

[T}]
wrongdoers
will.
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